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Answer two	questions.

Question	1

0 1  Explain why Luther attacked the sale of indulgences in 1517. (12 marks)

0 2  How far was the success of the Lutheran movement in Germany due to the reformers’ 
use of the printing press in the years 1517 to 1555? (24 marks)

Question	2

0 3  Explain why the Anabaptists were suppressed in Münster in 1535. (12 marks)

0 4   How far was the success of the Genevan Reformation to 1564 a result of Calvin’s 
actions against his opponents? (24 marks)

Question	3

0 5  Explain why many new orders developed within the Catholic Church in the early 
sixteenth century (before 1540). (12 marks)

0 6   How important was the Papacy in reforming the Catholic Church in the years 
1534 to 1564? (24 marks)
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